k2115 e

LAl &= 71S0] = £ H| 2122~ A8 Q1EA SRIX]

=5 4Y/HIE o[0ix|

s gné

HE &Y. )
oA EHXE Moz Qs &F fIx|7t Hat

’ /i ArSELcH &
X*’ 1) K,./; X3 9|2 WHAs £

ol
o
i
®
Q
i
o
e
la}
N Ol
re
o
rie rir
[nt]
=5
= 0
A
Hu
i
o
o

[=]
HEY = UH EHLIcH EZ ME &2 H3
01| "785|01 = Eo| Hel /IXIZ Sot2 YElE /XISt S FfLich

THEL:
X2 dl 1.4308.

LIAb &2/ & &2 £ 1.4305.
orad A2l 1.4310.

=3 F#0{ &K ye e HEs Wy PA %7}'5\_%‘ Ix:ll-g. HI_ ?=|I-|
N | 9@ | ¢ ‘© LAF &3 715 E2lotl= mheha
RAL 7021 RAL 2004 RAL 1021 RAL 3020
EX com e Qe 34t Era s DI._I?I_E_I
‘@ 9 ¢ LIAL gElE, 92t A2l ol e A &3 bt
A=
RAL 6032 RAL 5017 RAL 7036 ‘u-l 04 Dl- D I XI‘O _-I| D |-—?_ |-
|.o|=o|- AH77I- o| KI-:L l:||- '=||-|

-E2 I*# RAL 7021.
- TEM RAL 2004.
- B2 2 RAL 1021.
- A3 5 Wz A RAL 3020.
- Al =M RAL 6032.
- 43S mEhA RAL 5017.
45t 5|A4 RAL 7035.

[— K]
M= HE 180° 2™ &
-'-'-E|.AE| 5'-|E_| KI-:L I:||- 5|'=II4
27"%E|Eh xal H=x

lo| Hell /IxIZ2 Sot3.

I
—
Metet & gLt

X2 AHSELICH

021 W oj

HMIA{E]:
Eo|A 2E K0638.
ZX|MY '='e' K1290.

=0 M:

PRI AP: &2 HE 24 O|=X &, HE O|=ZF
Etel cP: &2 Hl 2 =&, L{E 0|2 &

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/5



()
| — | — i
LIAL £2 71S0] U= 2H|Q1Z|A AL OHIA ZRIK
=0
L1 @ L1
N (O K
- —
Swi1 SW1
ES T ] B = T i
D357 ¥
.ot _| vg_j
7\ 77N r
E,=== + ) E\/=== — )
@ | Q
Z= 29
LIAL &2 71550] = 1A ERix]
FEHS FHE MA EfQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A[F EbA
EFS =2
F12. N F2<2.N
K2115.1940410 - AP 4 M10 10 385 25 15 9 3 6 10 1 8 14
K2115.1940510 - AP 5 M10 10 385 25 15 9 3 6 10 1,3 8 14
K2115.1940610 AP 6 M10 10385 25 15 9 3 6 10 1,8 8 14
K2115.19404101 - AP 4 M10x1 10385 25 15 9 3 6 10 1 8 14
K2115.19405101 - AP 5 M10x1 10385 25 15 9 3 6 10 1,3 8 14
K2115.19406101 - AP 6 M10x1 10385 25 15 9 3 6 10 1,8 8 14
K2115.1940512 - AP 5 M12 12 47,4 30 19 10,8 3,6 8 12 1,3 5 15
K2115.1940612 - AP 6 M12 12 474 30 19 108 36 8 12 1,8 5 15
K2115.1940812 - AP 8 M12 12 474 30 19 10,8 3,6 8 12 2,3 5 15
K2115.19405121 - AP 5 M12x1,5 12 474 30 19 108 36 8 12 1,3 5 15
K2115.19406121 - AP 6 M12x1,5 12 474 30 19 108 36 8 12 1,8 5 15
K2115.19408121 - AP 8 M12x1,5 12 474 30 19 10,8 36 8 12 2,3 5 15
K2115.1940616 - AP 6 M16 16 61,2 40 26 144 48 10 16 1,8 15 35
K2115.1940816 - AP 8 M16 16 61,2 40 26 144 48 10 16 23 15 35
K2115.1941016 - AP 10 M16 16 61,2 40 26 14,4 4810 16 2,8 15 35
K2115.19406161 - AP 6 M16x1,5 16 61,2 40 26 144 48 10 16 1,8 15 35
K2115.19408161 - AP 8 M16x1,5 16 61,2 40 26 14,4 48 10 16 2,3 15 35
K2115.19410161 - AP 10 M16x1,5 16 61,2 40 26 14,4 48 10 16 2,8 15 35
K2115.1940820 - AP 8 M20 20 71 50 30 18 6 12 20 2,3 20 60
K2115.1941020 - AP 10 M20 20 71 50 30 18 6 12 20 2,8 20 60
K2115.1941220 - AP 12 M20 20 71 50 30 18 6 12 20 3 20 60
K2115.19408201 - AP 8 M20x1,5 20 71 50 30 18 6 12 20 2,3 20 60
K2115.19410201 - AP 10 M20x1,5 20 71 50 30 18 6 12 20 2,8 20 60
K2115.19412201 - AP 12 M20x1,5 20 71 50 30 18 6 12 20 3 20 60
K2115.1960410 3| M RAL 7021 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.1960510 3| M RAL 7021 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.1960610 3| M RAL 7021 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.19604101 43| RAL 7021 CP 4 M10x1 10 39,5 26,3 15109 49 6 10 1 8 14
K2115.19605101 3| M RAL 7021 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.19606101 3| M RAL 7021 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.1960512 3| RAL 7021 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2115.1960612 A3|M RAL 7021 CP 6 M12 12 484 31,119 129 57 8 12 1,8 5 15
K2115.1960812 3| M RAL 7021 CP 8 M12 12 484 31,1 19 129 5,7 8 12 2,3 5 15
K2115.19605121 43| RAL 7021 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2115.19606121 A3|M RAL 7021 CP 6 M12x1,5 12 484 31,119 129 5,7 8 12 1,8 5 15
K2115.19608121 3| M RAL 7021 CP 8 M12x1,5 12 484 31,1 19 129 5,7 8 12 2,3 5 15
K2115.1960616 ZA3|M RAL 7021 CP 6 M16 16 62,3 415 26 16,6 7 10 16 1,8 15 35
K2115.1960816 A3|M RAL 7021 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.1961016 3| M RAL 7021 CP 10 M16 16 62,3 41526 166 7 10 16 2,8 15 35
K2115.19606161 A3|M RAL 7021 CP 6 M16x1,5 16 62,3 41,526 16,6 7 10 16 1,8 15 35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/5



)
| - | - =]
LIAL &S 71S0] U= 2H| Q12| A AE QIHA SR
Z= 29

FEHS FHE MA EfQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A[F EbA
ErS E=

F12E N F22 N
K2115.19608161 43| M RAL 7021 CP 8 M16x1,5 16 62,3 41,526 166 7 10 16 2,3 15 35
K2115.19610161 A3|M RAL 7021 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2115.1960820 3| M RAL 7021 CP 8 M20 20 72,3 51,3 30 20,5 8,5 12 20 23 20 60
K2115.1961020 3| M RAL 7021 CP 10 M20 20 72,3 51,3 30 20,5 85 12 20 2,8 20 60
K2115.1961220 3| RAL 7021 CP 12 M20 20 72,3 51,3 30 20,5 8512 20 3 20 60
K2115.19608201 3| M RAL 7021 CP 8 M20x1,5 20 72,3 51,3 30 20,5 85 12 20 2,3 20 60
K2115.19610201 3| M RAL 7021 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2115.19612201 3| RAL 7021 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 3 20 60
K2115.19604102 F01{ 28| RAL 2004 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.19605102 F04 2&IX| RAL 2004 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.19606102 Fo{ EIX| RAL 2004 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.196041012 F01 28| RAL 2004 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.196051012 Fo0{ 2 X| RAL 2004 CP 5 M10x1 10 39,5 26,3 15109 49 6 10 1,3 8 14
K2115.196061012 Fo{ EIX| RAL 2004 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.19605122 F0{ 23| RAL 2004 CP 5 M12 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2115.19606122 F0{ 2 X| RAL 2004 CP 6 M12 12 48,4 31,119 129 57 8 12 1,8 5 15
K2115.19608122 F0{ QEIX| RAL 2004 CP 8 M12 12 484 31,1 19 129 57 8 12 23 5 15
K2115.196051212 F0{ 2| RAL 2004 CP 5 M12x1,5 12 48,4 31,119 129 57 8 12 1,3 5 15
K2115.196061212 Fo0{ 28 X| RAL 2004 CP 6 M12x1,5 12 484 31,119 129 57 8 12 1,8 5 15
K2115.196081212 Fo{ QEIX| RAL 2004 CP 8 M12x1,5 12 484 31,1 19 129 5,7 8 12 2,3 5 15
K2115.19606162 F01{ 2| RAL 2004 CP 6 M16 16 62,3 41,526 166 7 10 16 1,8 15 35
K2115.19608162 F0{ 2EIX| RAL 2004 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.19610162 F0{ 28| RAL 2004 CP 10 M16 16 62,3 41,5 26 16,6 7 10 16 2,8 15 35
K2115.196061612 F01{ 2| RAL 2004 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2115.196081612 F0{ EIX| RAL 2004 CP 8 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.196101612 F0{ 28X| RAL 2004 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2115.19608202 F01{ 2| RAL 2004 CP 8 M20 20 72,3 51,3 30 20,5 8,5 12 20 23 20 60
K2115.19610202 F0{ EIX| RAL 2004 CP 10 M20 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.19612202 F01{ 28X| RAL 2004 CP 12 M20 20 72,3 51,3 30 20,5 8512 20 3 20 60
K2115.196082012 F01 2| RAL 2004 CP 8 M20x1,5 20 72,3 51,3 30 20,5 85 12 20 23 20 60
K2115.196102012 F0{ EIX| RAL 2004 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.196122012 F01 28X| RAL 2004 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2115.196041016 g2 =2 RAL 1021 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.196051016 gr2 2 RAL 1021 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.196061016 g2 =2 RAL 1021 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.1960410116 g2 =2 RAL 1021 CP 4 M10x1 10 39,5 26,3 15109 49 6 10 1 8 14
K2115.1960510116 g2 =2 RAL 1021 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.1960610116 g2 2 RAL 1021 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.196051216 g2 =2 RAL 1021 CP 5 M12 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2115.196061216 gh2 2 RAL 1021 CP 6 M12 12 484 31,119 129 57 8 12 1,8 5 15
K2115.196081216 g2 =2 RAL 1021 CP 8 M12 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2115.1960512116 g2 =2 RAL 1021 CP 5 M12x1,5 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2115.1960612116 gh2 2 RAL 1021 CP 6 M12x1,5 12 484 31,119 129 57 8 12 1,8 5 15
K2115.1960812116 g2 =2 RAL 1021 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2115.196061616 g2 =2 RAL 1021 CP 6 M16 16 62,3 41,526 166 7 10 16 1,8 15 35
K2115.196081616 gr2 =3 RAL 1021 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.196101616 g2 =2 RAL 1021 CP 10 M16 16 62,3 41,526 166 7 10 16 2,8 15 35
K2115.1960616116 gh2 2 RAL 1021 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2115.1960816116 gr2 =3 RAL 1021 CP 8 M16x1,5 16 62,3 415 26 16,6 7 10 16 2,3 15 35
K2115.1961016116 g2 =2 RAL 1021 CP 10 M16x1,5 16 62,3 41,526 16,6 7 10 16 2,8 15 35
K2115.196082016 gh2 2 RAL 1021 CP 8 M20 20 72,3 51,3 30 20,5 8,5 12 20 23 20 60
K2115.196102016 gr2 =3 RAL 1021 CP 10 M20 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.196122016 g2 =2 RAL 1021 CP 12 M20 20 72,3 51,3 30 20,5 85 12 20 3 20 60
K2115.1960820116 g2 =2 RAL 1021 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2115.1961020116 gr2 =3 RAL 1021 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.1961220116 g2 =2 RAL 1021 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2115.196041084 A5 S ¥ RAL 3020 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.196051084 A3 S Wz RAL 3020 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.196061084 A% S Wz RAL 3020 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.1960410184 A5 S ¥ RAL 3020 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.1960510184 A S wZh RAL 3020 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/5



[ ]
| | — ]
LIAL &= 71S0] = £H|Q13| A 28 QIEIA ZRK
ES 2%
FEHS T Y S0 DT b2 L LT L3 B BT H SWI Fx30T A B
BY =
F19% N F29. N

K2115.1960610184 ASSWZFRAL3020 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 18 8 14
K2115.196051284 ASSWZRAL3020 CP 5 MI2 12 484 31,1 19129 57 8 12 13 5 15
K2115.196061284 ASSWZRAL3020 CP 6 M12 12 484 31,1 1912957 8 12 18 5 15
K2115.196081284 ASSWZRAL3020 CP 8 MI12 12 484 31,1 19129 57 8 12 23 5 15
K2115.1960512184 ASSWZRAL3020 CP 5 M12x1,5 12 484 31,1 19129 57 8 12 13 5 15
K2115.1960612184 ASSWZRAL3020 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 18 5 15
K2115.1960812184 AESWZRAL3020 CP 8 MI2x15 12 484 31,1 19 12957 8 12 23 5 15
K2115.196061684 ASSWZRAL3020 CP 6 M16 16 62,3 41,526 166 7 10 16 18 15 35
K2115.196081684 ASSWZRAL3020 CP 8 MI16 16 62,3 41,526 166 7 10 16 23 15 35
K2115.196101684 AESWZRAL3020 CP 10 M16 16 62,3 41,526 166 7 10 16 28 15 35
K2115.1960616184 AES WZRAL3020 CP 6 M16x15 16 62,3 41,526 166 7 10 16 18 15 35
K2115.1960816184 ASS Wz RAL3020 CP 8 M16x1,5 16 62,3 41,526 166 7 10 16 23 15 35
K2115.1961016184 AESWZRAL3020 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2115.196082084 AlESWZRAL3020 CP 8 M20 20 72,3 51,330 205 8512 20 23 20 60
K2115.196102084 Al5S Wz RAL3020 CP 10 M20 20 72,3 51,3 30 20,5 8512 20 28 20 60
K2115.196122084 ASS WZRAL3020 CP 12 M20 20 723 51,330 2058512 20 3 20 60
K2115.1960820184 AlZS WZRAL3020 CP 8 M20x15 20 72,3 51,3 30 205 8512 20 23 20 60
K2115.1961020184 Al5S Wz RAL3020 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8512 20 28 20 60
K2115.1961220184 ASS WZRAL3020 CP 12 M20x15 20 72,3 51,330 205 8512 20 3 20 60
K2115.196041086 Al2d =MRAL6032 CP 4 M10 10 39,5 263 15 10,9 49 6 10 1 8 14
K2115.196051086 A1d =MRAL6032 CP 5 M10 10 39,5 263 15 109 49 6 10 13 8 14
K2115.196061086 AlZd =MRAL6032 CP 6 M10 10 39,5 263 15109 49 6 10 18 8 14
K2115.1960410186 Al1d =MRAL6032 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.1960510186 Aad =MRAL6032 CP 5 M10x1 10 39,5 26,3 15 109 49 6 10 13 8 14
K2115.1960610186 Alad =MRAL6032 CP 6 M10x1 10 39,5 26,3 15109 49 6 10 18 8 14
K2115.196051286 AZd =MRAL6032 CP 5 M12 12 484 31,1 1912957 8 12 13 5 15
K2115.196061286 AId =MRAL6032 CP 6 M12 12 484 31,1 1912957 8 12 18 5 15
K2115.196081286 A1 =S4 RAL6032 CP 8 M12 12 484 3111912957 8 12 23 5 15
K2115.1960512186 AlZd SMRAL6032 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 13 5 15
K2115.1960612186 AZd =MRAL6032 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 18 5 15
K2115.1960812186 A2d =MRAL6032 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 23 5 15
K2115.196061686 Al1d =MRAL6032 CP 6 M16 16 62,3 41,526 166 7 10 16 18 15 35
K2115.196081686 A1d =MRAL6032 CP 8 M16 16 62,3 41,526 166 7 10 16 23 15 35
K2115.196101686 Alad =MRAL6032 CP 10 M16 16 62,3 41,526 166 7 10 16 28 15 35
K2115.1960616186 Al2d =MRAL6032 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 18 15 35
K2115.1960816186 A2d =MRAL6032 CP 8 M16x1,5 16 62,3 41,526 166 7 10 16 23 15 35
K2115.1961016186 AlZ'd =MRAL6032 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 28 15 35
K2115.196082086 Alad =MRAL6032 CP 8 M20 20 72,3 51,3 30 205 8512 20 23 20 60
K2115.196102086 Al2d =MRAL6032 CP 10 M20 20 72,3 51,3 30 20,5 8512 20 28 20 60
K2115.196122086 AlZ'd =MRAL6032 CP 12 M20 20 72,3 51,330 205 8512 20 3 20 60
K2115.1960820186 Al2d =MRAL6032 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8512 20 23 20 60
K2115.1961020186 AlZd =MRAL6032 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8512 20 28 20 60
K2115.1961220186 AlZ'd =MRAL6032  CP 12 M20x1,5 20 72,3 51,3 30 20,5 8512 20 3 20 60
K2115.196041087 AlZS I RAL5017  CP 4  M10 10 39,5 263 15 10,9 49 6 10 1 8 14
K2115.196051087 AlES M RAL5017  CP 5  M10 10 39,5 26,3 15 109 49 6 10 13 8 14
K2115.196061087 AlZS FRAL5017  CP 6  M10 10 39,5 26,3 15 109 49 6 10 18 8 14
K2115.1960410187 Al5S I RAL5017  CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.1960510187 AlZS MY RAL50177  CP 5 MI10x1 10 395 263 15 10,9 49 6 10 13 8 14
K2115.1960610187 AlZS F RAL5017  CP 6 M10x1 10 39,5 26,3 15 109 49 6 10 18 8 14
K2115.196051287 AES M RAL5017  CP 5  MI12 12 484 31,1 19129 57 8 12 13 5 15
K2115.196061287 AES MY RAL5017  CP 6 M12 12 484 3111912957 8 12 18 5 15
K2115.196081287 AES M RAL5017  CP 8  M12 12 484 31,1 19129 57 8 12 23 5 15
K2115.1960512187 AES M RAL5017  CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 13 5 15
K2115.1960612187 AlES MY RAL5017  CP 6 MI2x15 12 484 31,1 19 12957 8 12 18 5 15
K2115.1960812187 AlES M RAL5017  CP 8 M12x1,5 12 484 31,1 19129 57 8 12 23 5 15
K2115.196061687 A5S M RAL5017 CP 6 MI16 16 62,3 41,526 166 7 10 16 18 15 35
K2115.196081687 AMSS ORI RAL50177  CP 8 M16 16 62,3 41526 166 7 10 16 23 15 35
K2115.196101687 Al5S F RAL5017  CP 10 M16 16 62,3 41,526 166 7 10 16 28 15 35
K2115.1960616187 Al5S I RAL5017 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 18 15 35
K2115.1960816187 ASS ORI RAL5017  CP 8 Mi6x15 16 62,3 41526 166 7 10 16 23 15 35
K2115.1961016187 AlZS @ RAL5017  CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 28 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/5



)
| - | - =]
LIAL &S 71S0] U= 2H| Q12| A AE QIHA SR
Z= 29

FEHS FHE MA EfQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A[F EbA
ErS E=

F12E N F22 N
K2115.196082087 A& S T2 RAL 5017 CP 8 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2115.196102087 A S oE RAL 5017 CP 10 M20 20 72,3 51,3 30 20,5 85 12 20 2,8 20 60
K2115.196122087 A% S mhd RAL 5017 CP 12 M20 20 72,3 51,3 30 20,5 85 12 20 3 20 60
K2115.1960820187 A& S m3 RAL 5017 CP 8 M20x1,5 20 72,3 51,3 30 20,5 85 12 20 23 20 60
K2115.1961020187 A S o RAL 5017 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.1961220187 A% S mhd RAL 5017 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2115.196041088 Q4% 3| M RAL 7035 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2115.196051088 18t 2| M RAL 7035 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.196061088 Q4% 3| M RAL 7035 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.1960410188 Q4% 3| M RAL 7035 CP 4 M10x1 10 39,5 26,3 15109 49 6 10 1 8 14
K2115.1960510188 18t 2| M RAL 7035 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2115.1960610188 Q1% 3| M RAL 7035 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2115.196051288 018t 3| RAL 7035 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2115.196061288 Q48 3| M RAL 7035 CP 6 M12 12 484 31,1 19 129 57 8 12 1,8 5 15
K2115.196081288 Q4% 3| M RAL 7035 CP 8 M12 12 48,4 31,1 19 129 57 8 12 23 5 15
K2115.1960512188 Q4% 3| M RAL 7035 CP 5 M12x1,5 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2115.1960612188 Q1% 3| M RAL 7035 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2115.1960812188 Q4% 3| M RAL 7035 CP 8 M12x1,5 12 484 31,119 129 57 8 12 2,3 5 15
K2115.196061688 Q1% 3| M RAL 7035 CP 6 M16 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2115.196081688 15t 2| M RAL 7035 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.196101688 Q4% 3| M RAL 7035 CP 10 M16 16 62,3 41526 166 7 10 16 2,8 15 35
K2115.1960616188 Q4% 3| M RAL 7035 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2115.1960816188 15t 2| M RAL 7035 CP 8 Mi16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2115.1961016188 Q4% 3| M RAL 7035 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2115.196082088 48t 3| RAL 7035 CP 8 M20 20 72,3 51,3 30 20,5 8512 20 2,3 20 60
K2115.196102088 18t 2| M RAL 7035 CP 10 M20 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2115.196122088 Q4% 3| M RAL 7035 CP 12 M20 20 72,3 51,3 30 20,5 85 12 20 3 20 60
K2115.1960820188 948t 3|A4 RAL 7035 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,3 20 60
K2115.1961020188 Q1% 3| M RAL 7035 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2115.1961220188 Q4% 3| M RAL 7035 CP 12 M20x1,5 20 72,3 51,3 30 20,5 85 12 20 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/5



